S1.No. :

TR Roll No.

No. of Questions — 30 SS-40-1-PHY.

No. of Printed Pages — 07

I HIEATH e, 2017
SENIOR SECONDARY EXAMINATION, 2017
Hifeh o=
PHYSICS
U 314 "Ue

quTieh : 56

yhenfofat & foro amm=a fAdw .
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) udiemel TEUY™ U= U9A UF W ATHIG AR o |
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) =\ WA T WA E |
All the questions are compulsory.

3) ek U T ST &1 T3 I-Yfeaent | & fore |
Write the answer to each question in the given answer-book only.

4) R ggi B sreafies @Wug 3, 37 | & 3w Uk "y g ford)
For questions having more than one part, the answers to those parts are to
be written together in continuity.

5) ugauA o @t @ T BuTar | fohel T <l e / o / Temienw e g+ we Tt
WTYT <6 I99 hi TET WH|
If there is any error / difference / contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) Iy W&l 3k ek U9

1-13 1

14-24 2

25-27 3

28-30 4

Q. Nos. Marks per question

1-13 1

14-24 %
25-27 3
28-30 4

7) uya " 21 e 27 § 30 # suwaien faemed £

There are internal choices'in Q. Nos. 21 and 27 to 30.

8) udiem H HeThelex o IUAN hY AT L 2|

Use of calculator is not allowed in the examination.
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Tereht wTeTeR W gererel & “eruaTg A i aitaiva fifm) [1]

1)
Define 'drift velocity' of electrons in a conductor.

2) Uk fasfier ATATIE hUT gRT U &1 o A forfRau| [1]
Write the name of fields produced by a moving charged particle.

3) gwhed ¥ FL Ama’ st utewmen feRau) [1]
Define Curie temperature in magnetism.

4) ¥ IXOT i ToEgd e FAT hEd & ¢ [1]
Why self induction is called intertia of electricity?

5) U SATAfIa wUr SOt ATETEReT & gt ot 100 MHz gt & et st | et grT
3cud forega grachia auTi kil AT T gt ? [1]
A charged particle oscillates about its equilibrium position with a frequency of
100 MHz. What is the frequency of electromagnetic waves produced by the
oscillator?

6) ““TeRTIT T TR H T UY SRR Scael 1 |ehaT g1’ 38 UivereAr ot A forfau) [1]
"Light added to light ¢an produce darkness". Write the name of this phenomenon.

7) HIEAW ok AUSHTeh bt uRwTET ferfau) [1]
Write the definition of refractive index of a medium.

8) e Wt sfAfvaaarn fargra forfau) [1]
Write Heisenberg's uncertainty principle.

9) U TSI, Teh TEWHT (0U) THUT AAT Uk Wi hl Tawt Sa1d 90 ¢ | 370 | form ot 6t
2 e qareed stfereman grft ? [1]
An electron, an alpha (o) particle and a proton have same kinetic energies.
Which one of these particles has largest de Broglie wavelength?
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10) TS U] o TFeH o foru figant o1 ¥a foRau) [1]

Write the Rydberg formula for the spectrum of the hydrogen atom.

11) IR SHEIE &1 U g 3uan fafiau) [1]

Write one main use of Zenor diode.

12) JEWRUT SO =T R ? [1]
What is broadcast communication?

13) wr 3= emgf (UHF) ufter &Y srafat o1 gemor wme: fer aomn g garg? [1]
Which waves normally broadcast the frequencies in ultra high frequency (UHF)
range?

14) U TUTR UTIeht a1y Hemie ht eriar 8 PH g | afe sueht afgentati o sft=r ol g ammeft aen
T ST 5 URTAEATeh <kl Shis UETY JUTd: WX & a1 o1a |4 shi ariat Fima hitsel [2]
A parallel plate capacitor with air has a-capacity-of 8 PF. Calculate the capacity
of the capacitor if the distance between the plates is halved and the space between
them is fully filled with a substance of dielectric constant 5.

15) ot =1 fem = 2 7 3| fAgm & s o s ferRau | [1+1=2]

What is Ohm's law? Write any two limitations of it.

16) 12V ferega arges et qun 2Q arraite gfatre 6 v aedt foreht ufotiees o wenfm 21 afe
zad 0.5A 6t Togga amr watea g a1 faRieres st STekiel 1a shifae | 9afe aiRaer o+ gt at
e sl eTHAA ieeal & grit ? [1+1=2]
A battery of electromotive force 12V and internal resistance 2€2 is connected to
a resistor. If the current of 0.5A is flowing through the circuit then calculate the

resistance of resistor. If the circuit is closed then what will be terminal voltage of
the cell?

17) ' erag 6 Uk U 98 9uEd g 8 'B' 9 e el arer v @ wfoame 21 9
SITEYT YR STFaad 2 | aeh foregga arges et o1 =ieter e i) [2]
A conducting rod of length 'I' is moving with constant linear speed V' in a
uniform magnetic field 'B'. This arrangement is mutually perpendicular. Obtain
the expression of motional electromotive force.
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Terera gradhra Weren @ soud fondl = @i (fafereont) @ @ fefa) [2]

18)

Write the name of any four waves (radiations) produced in electromagnetic
spectrum.

19) U BIET G o ATHGIAH AYUT ATIRT i WIhT gRAT /A 192 cm @T 8 cm 2| g@eht
AL AT AUT AT i ok S kI g 7@ Hifg) [1+1 =2]
The focal lengths of an objective lens and eyepiece are 192 cm and 8 cm
respectively in a small telescope. Calculate its magnifying power and the
separation between the two lenses.

20) wehTer forgga wwTe foRel shgd 8 7 TeRToT T eri T g1 hent U iR shtet 3 7

[1+Y2+Y2=2]
What is photo electric effect? On which two factors_the photo electric current
depends.

21) SATCEl geTRE IR AI-A YiRAAT FAT g 2 iy ql STE FeHargi ek A=l Fiehdl o A7 filau|

[1+1=2]
YT
wTeR e (deh gR) 78 gd g 2 81 WTd ek Teh ¢RI & A1 foRau|
What is optoelectronic junction devices? Write any two names of optoelectronic
junction devices.
OR
What is logic gates? Write two names of universal logic gates.

22) &R Aige it g1 wam feRau) [1+1=2]
Write two limitations of Bohr's model.

23) ®) Al Ufaed ugted ki Wihadl I URHTYA hitg | gaet S.1. A feriau|
@) “C R argerg 5700 =9 1 geww @ aef 37

[Y2+Y2+1=2]
a) Define the activity of radioactive substances. Write its S.I. unit.
b) "The half life of 164C is 5700 years." What does it mean?
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24) ATgER qun foarged ® st T hif| [2]
Distinguish between modulation and demodulation.

25) TEEER | AT Shig g1 J&F Sl g-a1 il Sg chiteTu | 3¢ hel T fehat 3T Tehat 2 ?
wwlt gitat ek T i o1 Werwr 3= dieeat Wt foRan SiTat 8 7 [3]
Describe any two energy losses occurring in transformers. How these can be
minimized?

Why electric power is transmitted at high voltage upto large distances?

26) = g formr v gfes X o1 A forRaw | o uituer w6t o smem w6t farfer swemse (3]
X
Trarefe Eeha Tl weha

Write the name of device 'X"1in the following given diagram. Explain its working

making its circuit diagram.
X

Input signal Output signal
27) 0Ty R gd T ? TR o a0 faghd & 3TN WX TehT9T & HUade HaHi hi sameat
LRSI [3]
AT
grfeaes fereumus fore wga 3 7 ToRef qUur <t wike gt aut ashat Fsen ® dvary weorfua
i)
What is wavefront? Explain laws of refraction of light on the bases of Huygens
wave theory.
OR
What is lateral shift? Establish relation between focal length and radius of curvature
of a mirror.
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28)

29)

30)

7

TR faggfeht @ w1 fAem foRau | o1 va oIFag o Ush 9H1F ATy H9 aR & S
Torega o o1 =oieTeh Sgeud e emavas fos sATEa | [4]

AT
T T ATH AT T ATHIThd TS FATRT THRT SATAE U HIATITA T AU hIfeTu]
State Gauss law in electrostatics. Derive an expression of electric field due to an
infinitely long straight uniformly charged wire. Draw necessary diagram.

OR
Describe the construction and working of Van de graff generator making the
labelled diagram.

st AT e o g afee wu § forlRau)| et amramdt gamer utet & o1t W grehi
&I hT SaTeh UTH <hIfSTU | STarvareh s aATsa | [4]
YT
ufrrER =1 aiaefi e wfurdis w0 # foRan| et et amrardt ufetferent & ster @
TR O T Sh<ieh Sgcud <hifeiu | eiravash o s med|
Write the formulasof Biot-Sevart law in” vector form. Obtain an expression of
magnetic field on the axis of a current carrying circular loop. Draw necessary
diagram.
OR
Write Ampere circuitallaw in mathematical form. Derive an expression of
magnetic field at the axis of a current carrying long solenoid. Draw necessary
diagram.

TICRTSE T ¢ ? $8eh Shig af IUAN fTRaT | Yfora TehteT, HATIITeR g werTot aen sigfaa
TERTIT Shl UET Hel HIU ? [4]
et

wE R T %=(f’t—1)[%—%) =geud hifu| ferdt sraae gdur @ e smen
TTadeh a1 TeRET TAREsit uared | Geh o A1 SUUT gRT 9+ UTdferrel U o IHWTE 9= ?

What is Polaroid? Write any two uses of it. How will you identify the polarised
light, the partially polarised light and the unpolarised light?

OR

1 1 1
Derive Lens maker formula 7:(11—1) (?—R—J . The lower half of the concave
1 2

mirror's reflecting surface is covered with an opaque material. What will be the
effect on the image formed by the mirror?

For oo

SS-40-1-Phy.

Previous Pathshala






